Lattice parameter 7

Diffraction pattern — what you get
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Cubic system

Peak position, 20 - d-spacing = unit cell parameter, a
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Crystal system  Cell lengths Cell angles

Cubic a=b=c a=p=y=90"
Tetragonal a=h, c a=p=y=90°
Orthorhombic a boe a=p=y=90° Decreasing
symmetry
Hexagonal a=b, c a=p=90°, y=120°
Rhombohedral  a=b=c a=p=y
Monoclinic a,b,c a, p=y=90°
Triclinic a,b,c a, B,y v
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Decrease symmetry = (cubic --- triclinic) = reflection 1}



3-3 28 E°|
(a) (100), (110), (1M1)
(b) (001), (100), (101)

(c) (100),(110), (001)



3-3 28 E°|
(a) (100) 29.78, (110) 42.62, (111) 52.86
(b) (001) 29.78, (100) 45.34, (101) 61.86

(c) (100) 29.78,(110) 42.62, (001) 45.34



